[bookmark: 1]


NÁVOD NA INŠTALÁCIU

CALEDON
[bookmark: _GoBack]
[bookmark: 2]







































6mm





3.2mm
















1

[bookmark: 3]


Obsah balenia


1x Návod na
montáž


4x Hmoždinky
4x Plochá skrutka M4x35


3x Skrutka M4x8
3x Krytka skrutky


2x Krytky profilov

1x Konzoly
1x Stenový konektor
1x Tesnenie
1x Zásuvka
1x Plochá skrutka M4x35

1x Zásuvka
1x Skrutka M4x25
1x Klip na sklo

1x Stenový stĺp


1x Vodný deflektor





1x Pevný panel
















2

[bookmark: 4]


Montážny výkres










[1]

[10]

[11]

[13]

[2]




[12]







[3]





[4]

[5]



[6]





[7]




[8]







(1) 6x Hmoždinky
(2) 5x Ploché skrutky M4x35
(3) 3x Skrutky M4x8
(4) 1x Pevný panel
(5) 3x Krytky skrutiek
(6) 1x Stenový stĺp

[9]



(7) Vodný deflektor
(8) Skrutka M4x25
(9) 1x Klip na sklo
(10) 2x Krytky profilov
(11) 1x Držiak
(12)1x Tesnenie
(13) 1x Stenový konektor



3

[bookmark: 5]

Postup inštalácie

Krok 1

１








１                                                         ２
２
３


３









Krok 2

3



1

Plochá skrutka
M4x35









2

6mm










3




1

2




４

[bookmark: 6]


Krok 3




2b




２

１



１



2c




2a




2d










Krok 4

Nutnosť zabezpečiť, aby stenové profily boli zvislo.
Nadstavenie predného skla musí byť tak, aby sklo
v drážke malo zabezpečený ľahký prechod.




3.2mm













Skrutka M4x8










View from inside

5

[bookmark: 7]

Krok 5







１



１





２

Pohľad dnu
















Pred použitím nechajte silikón vyschnúť 24 hod































6
image5.jpeg




image6.jpeg




image7.jpeg




image1.jpeg




image2.jpeg
4 General Information

Please inspect the product immediately upon receipt for transit damage, missing packs/parts
or manufacturing fault. Damage reported later cannot be accepted.Please handle the product
with care avoiding knocks and shock loading to all sides and edges of the glass.

Notes: Safety glass can not be re-worked.

Please read these instructions carefully before start of installation.
Special care should be taken when drilling walls to avoid hidden pipes or electrical cables.
Note: This product is heavy and may require two people to install.

Aftercare instructions

After use, your shower should be cleaned with soap and water. This is particularly important
in hard water districts where insoluble lime salts may be deposited and allowed to build up.
Cleaners of a gritty or abrasive nature should not be used. Care should be taken to avoid
contact with strong chemicals such as organic solvents and strippers.

Glass cleaners can be used but with caution, if in doubt contact the manufacturer of the cleaner
in question.

Please keep these instructions for aftercare and customer service details

Tools Required





image3.jpeg
}

|





image4.jpeg




